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QUESTION 1

Your customers current data protection solution Is based on HPE Nimble storage and HPE StoreOnce In combination
with Veeam software The customer wants to Know how to Integrate a new SAP HANA solution Into the current data
protection solution. Does this statement provide a valid recommendation? Solution:Integrate SAP HANABancKint with
HPE Nimble Storage arrays, which allows you to take application consistent snapshot from within SAP HANA on the
storage array where the databases are stored. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 2

You are showing your customer now veeam integrates with HPE storage products, such as HPE Nimble and HPE
3PAR. You show how Veeam can restore in a fast and efficient way from HPE storage snapshots Is this a correct
statement? Solution:The HPE Nimble Storage Replication Adapter (SRA) for VMware must be installed on the host
running VMware 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 3

You are working with your customer on the advantages and disadvantages of various data protection schemes They
currently have a storage solution with 2 HPE 3PAR arrays with Peer Persistence This is used to make backups to an
HPE StoreOnce VTL backup target using Commvauft Will this recommendation enhance the data protection plan?
Solution: Use the Grandfather-Father-Son (GFS) rotation scheme 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 4

You have a meeting with a customer to discuss a new backup solution requirement is this a step In the information
gathering process for the current solution? Solution:Ask the customer to run the HPE SAF Collector to create the typical
output files, which are needed for import into NinjaStars for a correct sizing for the new desired solution. 

A. Yes 

B. No 
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Correct Answer: B 

 

QUESTION 5

The customer uses HPE infoSight with HPE Proliant DL380 Gen10 servers and an HPE Nimble Storage array. They are
replacing their aging data protection solution based on tape drives with a new disk- based backup target solution based
on HPE StoreOnce Is this a true statement? Solution:HPE intoSight provides predictive analytics for HPE StoreOnce. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 6

Is this a valid statement regarding Commvault components? Solution: A Client Is a software module that is installed on a
client computer to protect a specific type of data. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 7

You are snowing your customer how Veeam integrates with HPE storage products, such as HPE Nimble and HPE
3PAR. You show how Veeam can restore in a fast and efficient way from HPE storage snapshots Is this a correct
statement? Solution:Veeam Explorer can instantly recover a VM from a storage snapshot without prior de- staging and
intermediate restores. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 8

As relates to mitigating ransomware, is this a best practice? Solution: Avoid using NAS based backup targets since
ransomware is primarily looking for tiles to encrypt Instead, use independent access through APIs like Catalyst or tape
drives with vaulting procedures. 

A. Yes 

B. No 

Correct Answer: A 
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QUESTION 9

Does this option describe a valid scenario for using the 3-2-1 data protection rule or the 3-2-1-1-0 data protection rule?
Solution:You Intend to use at least 3 different types of on-premises storage 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 10

Does this option describe aspects of a valid Disaster Recovery (DR) plan component? Solution: You might start a DR
plan by denning downtime and data loss targets, because this can help determine the type of solution that is best for
you. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 11

Refer to the exhibit. Your customer is sending backup jobs lo an HPE StoreOnce backup target. They notice big
differences on the deduplication and replication ratios between two jobs on consecutive days. The same type of data
was backed up on both occasions Saturday backup: Sunday backup: 
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Is this a correct statement about the differences between the two backups? Solution:Deduplication is completely
dependent on the type of user data being sent to the backup application This result means the users have created more
duplicate data on Saturday compared to Sunday. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 12

A customer contacts you for assistance with performance troubleshooting of their backup environment because over the
last few days they notice increasing times for backup completion They see no apparent reason for this, since the data
volume to be backed up did not change unusually compared to the previous days and weeks. You also notice that the
deduplication ratio, historically steady at about 20:1. is now gradually declining Is this a potential cause of the problem?
Solution:Ransomware is encrypting data, making the dairy incremental backups grow and lowering the deduplication
ratio due to new content. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 13

Your customer wants to replace an aging tape library with a new data protection solution that Improves their RTO/RPSs.
Their existing platform consists of HPE ProLiant DL380 Gen10 and 8Gb FC connected Nimble Arrays. You recommend
an HPE StoreOnce appliance and Veeam software is this a true statement? Solution: The new HPE storeOnce
appliances can be Direct-Attached lo one or the HPE ProLiant servers 

A. Yes 

B. No 

Correct Answer: A 
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QUESTION 14

Does this topology/implementation comply with the 3-2-1 rule of data protection? Solution:An HPE MSA array creating
local snapshots on the same array Backups are made with Veeam to a local HPE StoreOnce system using MAS shares
Within Veeam a copy fob is active to a Veeam Cloud Connect repository target hosted at a public cloud provider 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 15

A customer has deployed a hyperconverged environment based on HPE SimpliVity at a number of their 

sites. 

Before migrating workloads to the environment, you ask them about the backup policies in an HPE 

SimpliVity solution to protect the actual data. 

Is this a design consideration that you should mention to your customer? Solution:The types of applications running In
the resource pools. 

A. Yes 

B. No 

Correct Answer: A 
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